Question Paper
M. A. Arabic Part 2, Semester 4
Paper No. 403
Arabic Advanced Grammar & Translation
Department of Arabic
University Of Mumbai
Question No. 1; Jwsdiqlis
A-
B- sk
C- 4 Lja Sy

D- 4@ & 3a (A

Question No. 2; Jxii (Jexdl o) has
A-Two additional letter

B-One additional letter

C-Three additional letter

D-Five additional letter

Question No. 3: Jadisjs Jel aul Of



A- i b
B- Jadi by
C- ddelia b

D- Jud) b

Question No. 4: ileliiis
A- Jgrda i

B- siax

C- Jold aud

D- (ala J2

Question No. 5: &3 is
A- rala Jad
B- & baa Jad
C- Jualli audl
D- Jsada pul

Question No. 6; Jwaid Gy
A- Makes an intransitive verb, transitive one.

B- Makes a transitive verb, intransitive one.



C- Makes an imperfect verb, perfect one.

D- Makes a perfect verb, imperfect one.

Question No. 7: 338 is _was Of
A- i b

B- Juid iy

C- Jadiul Gy

D- Jd) i

Question No. 8: The following <l are used for
abbreviation

A- i 5 Jad) Gl
B- Juidl g Juadil b
C- Jandin § Jadi iy
D- Jelii 5 dlelia iy

Question No. 9: From & b is the following word
A- i
B— 3& 2

R



SEHEEE:

Question No. 10: &332« 3 a4 « a5 & s these three words
are from

A- Sl g Jpadi g Jlad) Gy
B- Juidl g Judil g Jud) by

C- Jladind g Jadi g Jaadi iy
D- Jeldi g delda y Jacli iy

Question No. 11: Translation of "slal 4ad sal) 4,40 )" js
A- The undersigned firm

B- The abovementioned firm

C- The leading firm

D- The Commercial Register

Question No. 12; "l Ly o 18 a sa; " this sentence
means

A- Herewith gives full power
B- Herewith accepts Power of Attorney

C- Herewith confers Power of Attorney



D- Herein gives a good offer

Question No. 13: the meaning of "4 yad jall (addll agat, "
A- The unauthorized person is bound to

B- The unauthorized person is allowed to

C- The authorized person is not bound to

D- The authorized person is bound to

Question No. 14: " Js¥ GAl a SE &8 Jay™ the
equivalent translation is

A- The second party shall work for the first party
B- The first party shall work for the second party
C- The fourth party shall work for the first party
D- The third party shall work for the first party

Question No. 15: “This agreement shall become
effective” means

A- Sl 138 g
B- JLIAY) I (5
C- d8al) 13 wdy

D- S8al) 138 (5 s (A



Question No. 16: “The First party shall pay to the second
party” the translation of this sentence is

A- A0 @A JgY) G Al by
B- Js¥ Al AU 5 Al ady,
C- Js¥ Al ¥ G Al ady
D- Gl (& Al J oY) Al ady

Question No. 17: “This power of Attorney is valid until”
means

A- S diad) 13 Jgada (g
A- (A el ) Jsada 5 5l
A- A dhal) 1 Jgada (g
A- S diad) 138 Jgrda g ¥

Question No. 18: the meaning of ¢amy o2 s
A- Power of attorney

B- Power of judgment

C- Full Power

D- Official Power



Question No. 19: equivalent word of 4 &l is
A- Firm

B- House

C- Life

D- Partnership

Question No. 20: J«e % means
A- Employment agreement

B- Work force

C- Agreement of work force

D- working committee

Question No. 21: A& @AY js
A- The third party

B- The first party

C- The second party

D- The first and second

Question No. 22: “The first party” is



A- Js¥) G Al
Bl g il
C- Caldll 5,80

D- &l A G Al

Question No. 23: meaning of “ Terms of this agreement”
IS

A- ddal) 1 Jag
B- dal) j3a (il 68
C- Jssall dial)
D- d8ad) 13 &S

Question No. 24: equivalent word of “nationality”
A- daudal)

B-hsl

C- A4l

D- i Jls>

Question No. 25. “Commercial Register” means

A- (sl Jaud)



B- hasl) Jaudl
C- (ol ol
D- il Jawdl



